AN =t AN S T
S SN A Y e A= IRODL 525

2—-4-49 TARRL




StBA

5503

2.

S
&
TR
J
N
Q
N
0

Bk
o)
o

Bk
i
0

=
02

o




R U T W OFFE & (S ?

» SHORENEELTNG

> KR CEDIRIETHD

» FERRIR EBAEENLUODMD LTS
> FERIH R




A=

RERZFHWNWTZEL TLDI=FHD
RINDFFEZ R DT D




FENRZIELU TLVDSHDORIVDFFE

=<
H.

1. BEINEZEELTND

fcS : RAZRB U TVDRECH U T, EEDOFIZD—ED
ZIREVPHRNIREDIE THECI DT L

2.U9—>ﬁ§ﬁbtm5
S —>  ZOMEMNSESNTCHIEZ UG




SEWER LT —4

HARD FI5E#RICDULNTD2022/1~2022/8F TOHIR
(AR) =—4. (2167%t)

1 |#fAE  siRI-F RE BEE(%)TEs TEA: BETERMHEASLFTEFELRIEE OETIE RTEKI T EN BEAE( FIEKER PER(EE PBR(ZE KB ECEABI L 410Y h 37 vIFIE F Ya-hug (EE

2 @2 1301 3330 1.99081 986400 3.4E+09 3330 3330 3330 50 0 1.1E+07 100 2.5E+10 3 7.96077 0.84112  2.4024 24024 58.3333 36.3773 80.9662 -2.57273
E Bk 1332 548 0.73529 5.1E+07 2.8E+10 548 548 548 50 1 3.1E+08 100 ##zzzz% 2 9.47546 0.91636  1.7335  2.0072 50 128.719 88.3758 1.68088

4 |Tn=3 1333 2397 -4.69185 5306300 1.3E+10 2397 2397 2397 50 1 5.3E+07 100 8.2E+10 2 T7.64437 0.79738 1.6687  1.6687 41.6666 27.0451 63.2166 2.54209

5 |SEXL 1375 1141 -4.99584 2144600 2.5E+09 1141 1141 1141 50 0  4E+07 100 1.8E+10 3 154264 415836  3.6809  3.6809 50 75.7521 4.18693

6 |HhxafE 1376 1597 1.71975 254300  4E+08 1597 1597 1597 50 0 1.2E+07 100 9.9E+09 3 16.8829 0.85546  1.8159  1.8159 50 -20.0556 113.173 0.66873

7 [vhasas 1377 3710 9.92593 2437000 8.7E+09 3710 3710 3710 50 0 4.7E+07 100 9.7E+10 3 16.7889 1.44764 1.0242  1.0242 41.6666 -37.9315 114.868  5.5094

8 | b 1379 1906 -3.29782 2038100  4E+09 1906 1906 1906 50 0 3.3E+07 100 3.5E+10 3 28.6404 1.12982 3.1479  3.1479 41.6666 -51.1018 75.0738 1.58788

CREEPEE 1384 693 0.58055 578400  4E+08 693 693 693 50 0 8459000 100 2.1E+09 3 6.93734 0.57174 1.443 21645 ©58.3333 28.0601 148.019 -0.69884

10> s—%> 1414 5330 3.89864 3174100 1.7E+10 5330 5330 5330 2050 0 5.7E+07 100 #zzzzz2 2 247493 3.09881 1.9793  2.0262 58.3333 15.0891 108.042 -0.61631

11354+~ 1417 1949 0.10272 6046200 1.2E+10 1949 1949 1949 2050 0 1.1E+08 100 ####222 2 857255 0.82829  2.3088 2.8219 41.6666 116.927 86.7109 -3.61229

12 | 4vHh—L 1419 2554 10.8026 4284100 1E+10 2554 2554 2554 2050 0 29E+07 100 3.4E+10 3 9.84779 278766  3.9154 45027 58.3333 286.114 127.022 -2.47902

13|y 3—+ 1420 748 -3.60825 826100 6.5E+08 T48 748 T48 2050 0 1.3E+07 100 1.9E+09 3 276162 0.56621 3.3422 33422 33.3333 1.3921 162.162 -0.86029

14|8x727 1429 657  9.6828 1857800 1.1E+09 657 657 657 2050 0 3.5E+07 100 5.7E+09 3 14441 266988  3.0441 33485 66.6666 -17.5107 144.104 -3.81248

15/1s ta- 1430 786 5.36193 440900 3.3E+08 786 786 786 2050 0 1.3E+07 100 4.2E+09 3 7.87364 1.45804  4.8346 3.8167 66.6666 39.1085 188.445 -1.44458

16 |~2573 1433 1206 -3.36538 783600 9.3E+08 1206 1206 1206 2050 0 8829000 100 5.3E+09 3 223713 242089 1.3266 1.6583 66.6666 -50.3932 101.739

17 |akm—1 1435 213 2.40385 5259900 1.1E+09 213 213 213 2050 0 9.1E+07 100 7.8E+09 3 47.8633 255407 0.4694  0.9389 50 140.943 85.9211

18 |% v 54 1446 506 2.63692 147900 7.4E+07 506 506 506 2050 0 1.1E+07 100 1.9E+09 3 644039 1.93131 1.1857 1.1857 ©58.3333 -48.0264 136.828

19 |[EEHD 1514 169 17.3611 8.6E+07 1.5E+10 169 169 169 1050 0 6.6E+07 100 6.5E+09 3 6.20119 0.59954 1.7751  1.7751 33.3333 115.221 255.929

20 | B 1515 7080 6.30631 1021100 7.1E+09 7080 7080 7080 1050 0 8352319 100 3.5E+10 3 7.55075 0.50396  1.4124 3.9548 66.6666 109.046 215.846

21 | =HmEt 1518 1911 19.8871 6.2E+07 #####&% 1911 1911 1911 1050 0 1.3E+07 100 1.7E+10 3 5.17942 0.75753  2.6164  4.1862 25 523.035 172.499

22| INPE> 1605 1440 21.519 4.9E+08 #zzzzzz 1440 1440 1440 1050 1 1.4E+09 100 ###zz22 2 7.98634 0.6391 3.3333 3.75 583333 343.621 191.188

23| EEEE 1662 2571 -5.92755 1.5E+07 3.9E+10 2571 2571 2571 1050 0 5.7E+07 100 6.6E+10 3 -3.6855 0.47873  1.9447  1.9447 50 126.786 135.991

24|K&0xS 1663 1678 3.70828 1364500 2.3E+09 1678 1678 1678 1050 0 2.8E+07 100 1.7E+10 3 159203 0.56858 1.7878  1.7878 58.3333 18.2052 235.271

25 | F4e%< 1712 1271 3.24939 1726100 2.1E+09 1271 1271 1271 2050 0 1.7E+07 100 5.3E+09 3 16.7069 1.50193 0.472  0.6294 58.3333 490.243 134.032

26 E—Hvs 1716 1352 1.80723 340200 4.5E+08 1352 1352 1352 2050 0 1.2E+07 100 7.3E+09 3 9.84009 1.06882  1.3313 1.997 66.6666 31.3519 190.958
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1. Be

Tibrary(rpart)
companydata=read.csv('Cdata2.csv',fileEncoding="cp932"' ,header=T)
companytree=rpart (& & & 5t ~. ,data=companydata)
plot(companytree,uniform=T,branch=1,margin=0.05)

text (companytree,all=T,use.n=T,pretty=0)

2. U=
Tibrary(rpart)
companydata=read.csv('Cdatal.csv',fileEncoding="cp932', header=T)
companytree=rpart (o I& & # @ {8 £~. ,data=companydata)
plotcp(companytree)
companytree2=prune(companytree,cp=0.013)
print(companytree?)
plot(companytree?,uniform=T,branch=1,margin=0.05)
text (companytree2,all=T,use.n=T,pretty=0)




@E\_Ll /;%L_*

EE < 3.113 e
- BF{l#8EE > = 3.447e + 09
- ${E < 2206 BT 421095 5 (i8I iB s ga < 3 4476409
BEER < 1.028 =000 1900
‘ 2 461 3.43 3.626 HE=522 00
n=210 n=456 n=133 n=1367
- SRR < 1.028 .
- BHi#A%E > = 3.447e + 09 N v

- #24E8 < 2206




U 9 /O)/;%L_*

52— flaize=131 9

n=2166
W ~ bR [T a8 824
-MNJ1—ALL>A <131.9 B4 BgALd
n=578 n=1588
- #2448 < 1417
fE5EEE 2wl 3 27 st 8 hradgdde+09 a2 19 21436
n=115 n=463 n=784 n=804
12128 44886  TUi=Hlyde=179 (8P54 06259  1.805
n=26 n=89 n=232 n=231 n=416 n=368
5408 -0.5P92
n=77 n=155
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